CUMULATIVE REVIEW
1

1. Commutative Property of Multiplication [1.3A] 2. ; [2.1B] 3. % [2.1C] 4. 12 [2.1C]
1 5 3 10
5. {x |x < —-lorx> E} [2.4B] 6. 3 and —3 [2.5A] 7. {x | 0<x< ?} [2.5B] 8. 8 [1.2D]
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9. —45 [13B] 10. ety t++4t+te [LIC] T.C=R-Pn [21D] 12 x=3-3y [21D]
-5-4-3-2-1 012 3 45 2

13.0 [24B] 14 P(-3)=14 [32A] 15 (-813) [31A] 16 - [34A] 17.y- S+ [35A]

5 3 2 8 . .
18. y = —3F + 3 [3.5B] 19. y = -5 + 7 [3.6A] 20. y = -3% + 3 [3.6A] 21. There are 7 dimes in the
purse. [2.2B] 22. The speed of the first plane is 200 mph. The speed of the second plane is 400 mph. [2.3B]
23. 20 1b of $6 coffee and 40 Ib of $9 coffee should be used. [2.3A] 24, Y e [3.3C]
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25. y [3.4B] 26 [3.7A]
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27. y = —2500x + 15,000. The value of the truck decreases by $2500 each year. [3.5C]



